<V0 < j<n:alj]=v;,n>0>
<V0<j<n:alj]=v;,0=00<1+5>
1= 0;

<NMO<j<n:alj] =v,i=0i<1+5>
<Vi<j<g:aljl=v;Nan—1—j]=v,1-,
VO <j<i:alj] =v,_1-j Nan—1—j]=vj,
<14 4>

while (1 <n/2) {
<Vi<j<%:ialjl]=vjANan—1—j]=v,15,
V0§j<z':a[j]:vn,l,j/\a[n—l—j]:vj,
i <1+30< 3>

<Vi+1§j<ﬂ aljl =vj Nan—1—j] =v,_1_5,

V0§j<i:a[j]:
i+1<1+ 5%, al
e = ali;

Up—1— ]/\a[n—l—j]—v],
= [n_l_z]—vnlz>

<Vi+1<j<5:aljl=v;Nan—1—j] =v,1_j,

VO <j<i:alj] =v,_1-j Nan—1—j]=vj,
i+l<l+Fe=v,an—1—i =v,_1;>
ali| = ajn — 1 —iJ;

<NMi+1<j<Z:aljl=v;ANan—1—j]=v,1-j,

2
VO <j<i:alj] =v,_1-j Nan—1—j]=vj,
i+1<1+ 5, e=v;,ali]=v,_1->
a[n—l—z]—e

<Vi+1<j<5:raljl=viANan—1—j]=v,1_,

V0§]<Za[]]:vn_l_]/\a[n—l_]]zvj’
i+1<1+3g,an—1—i]=wv,ali] =v, 1>

<Vi+1<j<5:aljl=v;Nan—1—j] =v,1_j,

VO<j<i+1l:a[j]=vy1-jANan—1-—7j]
i+1<1+ 5>

1=1+4+1;
<Vi<j<g:aljl=v;Nan—1—j]=v,1-,
VO <j<i:alj] =v,_1-j Nan—1—j]=vj,
<14+ 4>
}
<Vi<j<%:ialjl=vjANan—1—j]=v,15,
V0 <j<i:alj] =vp_1-jANa[n—1—j]=vj,
<1+ 35,14 5>

<VO<j<i:a[j] =vp1-5Naln—1—j]=v;i= 5>

<V¥0 S] <n: CL[.]} = Unp—1—5~>
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